VCB-32

MOTOR BASE

MOTORBLOCK 5, o 260(A) 270, 280

=
2 1 7&?
30 450
10 \

250

\
\
\
"hl“v""
Q {)

(A) Lt !
100 /ﬁ“ i - 70,310
110,120 130 — A1) |

150 i
170,171 |

S
M

N\
XD

=

210 ~ RLLLE . 390

120,350
360,370,380

A: LOCTITE NO.242

CUTTER/MIXER BOWL ATTACHMENT
SNABBHACKS-TILLSATS

=

800 80 | R
N —g |Hh '

810 \ SN ' 700

<20 qu; 710

7
et

.15~

HALLDE 3ANACHbIE YACTH



VCB-32

yepTex Homep

Ne nspenus

Onucanue

WTYK

10 1412 KAMEPA HOXXA BKIMHOYAA BAIT HOXA B CBOPE 1

30 10259 PE3VHOBAS YNNOTHAIOLWASA LWAMBA, 18X30X7 1

70 14344 BWHT, M5X12 4
100 1411 LLKMB BAINA HOXXKA B CBOPE 1
110 24293 KPbILWKA 3NEKTPOHUKN, AM 1
120 14851 BWHT, MRT-TT M4X10 A2 DIN 7500 8
130 14084 CTOMOPHASA LLAMBA, FBB 4.1 A2 1
150 15527 KPOHLUTEMH AN NNATblI SNEKTPOHMKMN, AVC BS-9A 4
160 14753 BWHT, RT-PTF 5.0X20FZ 4
170 24343 OnekTtpoHHas nnata CC 230 1 50 1
171 24344 OnekTpoHHas nnata CC 110v,60 1
200 24176 SALNTHASA NAHENb BEHTUNALNOHHOW PELLETKM 1
210 24340 Kopnyc, Hu3 1
220 10494 PE3MHOBAA HOXKA, F-107 B 4
230 14333 BWHT, MRX-H M4X12 A2 70 4
240 10263 KOINbLIEBOE YMIIOTHEHWE V-18A 1
250 1415 BAJT HOXA B CBOPE 1
260 24146 WTN®T, BANT HOXA 1
270 10679 PEMEHb, GT 3MR 0408 18 1
280 24291 LLIKVB 1
310 24292 KPOHLUTEMH, ABUTATENb, AM 1
330 15711 OBWUIATENb, 220-240 1 50/60 1
340 24300 CETKA 1
350 15149 LWHyp nuTanus CB 1® ans CC-34/VCB-32/RG-50 1
360 10589 MPEOOXPAHUTENBHbIV 3AXKUM KABENSA, 55-016-89 1
370 14336 BWHT, MRT-H M4X25 A2 70 2
380 15422 KPEMNEHWE KABENA, NK-5N 1
390 24296 KOINbLIEBOE YMIIOTHEHWE, BEHTUNTATOP 1
450 1413 LUTUST AKTUBATOPA, SALUMTHbI BbIKITKOYATESb 1
500 24152 C NPY>XUHOW 1
520 24294 MOBOPOTHbLIV MEPEKNMIOYATESb, CC-34-1 1
530 24278 FEPKOH, MPEAOXPAHUTENBHbIN 1
540 24274 FEPKOH, PEFYNATOP CKOPOCTU 1
660 24134 PYUKA CKPEBKA 1
670 24132 CKPEBOK 3
680 24135 KONbLO CKPEBKA 1
690 24133 KOINbLIEBOE YMNNOTHEHWE, AVAM. 5 1
700 24151 YALLA, 3L 1
710 24153 PYUKA HOXXA 1
720 24172 KPbILLKA 1
750 24335 Y3en mukpoBbikntoyatens B coope AM UL 1
800 24244 Y3EN CKPEBKA 1
810 24245 KPBbILLKA, BKIMIOYAA KONbLIEBOE YMNOTHEHWE 1

HALLDE 3ANACHbIE YACTH




